MAINFRAME CLOSED CABINET SERIES
G-CAB/S-CAB-22/32/42U

SEMBLY
INSTROCTIONS

V1.2

(
240,
20355;
00055;
255,
g

: e
auavvaaunnﬂonnwvu 90000
Beecinni

2235603000053

noouuanwanv 9090000090000 |
Gassoceacactasitsatestisiiats
ao0s0naasaonasessansicasieits
Sossoseasassasasiesscisiiisy
323555552001 55350003
Sasa0cassantanesisesenitieats
a888esaataassasesssscastan
8920855353520054:
gee505550000

i 5
030655220000056554505035009
Sasasasessiiciit:

25093000539
553002005000 80499500220)
Gogsesaanastasasiseissitieasy
30050955
$20020255992005:

s
S

G-CAB

= MAINFRAME!

www.mainframemfg.com



ASSEMBLY INSTRUCTIONS — G-CAB/S-CAB-22/32/42U

S MAINFRAME!:

www.mainframemfg.com

ITEM LIST & REQUIRED TOOLS

Top & Bottom with 6-Fan Kit
TBF6

Front & Rear Doors Side Panels
22/32/42-GL-ST 22/32/42-SP4

Open Frame Server Rack
OFSR-4-22/32/42U

or
22/32/42-ST-ST

N

Steel Mesh Rear Door
x 1 pair
22/32/42-GL-ST or 22/32/42-ST-ST

Cable Management Rail
X2

OFDR-4-22/32/42U

Horizontal Beam
X2

OFDR-4-32/42U

Side Panel
x4

32/42-SP4
(x 2 for 22-SP4)

Bottom Plate
x1
TBF6

Top w/ 6-Fan Kit
x1
TBF6

Vertical Rail
X4

OFDR-4-22/32/42U

Front Door
x1
22/32/42-GL-ST or 22/32/42-ST-ST

Frame
X2

OFDR-4-22/32/42U

Bottom Panel w/Castors

X2

OFDR-4-22/32/42U




ASSEMBLY INSTRUCTIONS — G-CAB/S-CAB-22/32/42U = MAINFRAME:

ITEM LIST & REQUIRED TOOLS

p Supplied Accessories of [VR]iZIkILYIY fpﬁﬁ?ﬁéﬁ%ﬁgﬁﬁ3235?5&3552
A
4 K& ”
G 10-32 Screw and M6 Countersunk M5 Self-tapping Castors M6 Countersunk
E Cage Nuts Head Screws Screws Leveling Feet (Pl rstatied oot Baying Plates Head Screws
1 x 50 X 16 X8 X4 X4 X4 X8
P Supplied Accessories of pZiRYALYRIELN or PRy YA BNY)
; ) o | |
: N
A J 3 — / AN
(E; forKFer{mt fofSZar Door Hinge MSei?jug(t:?:/\l/Jgk Grounding Wire Rubber Washers Hoo(lfgjﬁ?am Ho?l';?gdhtc)am
Y X2 X2 X 6 x15 x3 X 6 X1 X1
p Supplied Accessories of priRyIL YR L p Supplied Accessories of [
A N )
C &) ) C
)
1 7 R/ e
g Side Panel Limits Self-tap’\si‘r‘w—QSScrews f szeyp ‘ (Ei . s S * For installing bottom plate
or oSlde Fane elr-tapping screws
. X 16 X 32 X 2 N X 6
*22Uonly x 8 *22U only x 16
REQUIRED TOOLS « #1 Philips Screwdriver
(User_supplied) - #2 PhlllpS Screwdriver

Confirm the amount of supplied accessories before assembly.




ASSEMBLY INSTRUCTIONS — G-CAB/S-CAB-22/32/42U EMAINFRAME:

www.mainframemfg.com

INSTALLATION

Unpack the frame assembly (OFSR-4-22/32/42U) and remove the temporary spacers that have
8 x M6 countersunk screws on each side (these screws may be kept as spares).

7,

7

8 78 78 (78 [JF.

=

8081788 81

Use M6 countersunk head screws to install and connect the aluminum frame and the aluminum
side frame.

M6 Countersunk
Head Screws




ASSEMBLY INSTRUCTIONS — G-CAB/S-CAB-22/32/42U EMAINFRAME:

www.mainframemfg.com

INSTALLATION

g Use M5 self-tapping screws to mount the front and rear base plates to the bottom left and right
beams.

M5 Self-tapping
Screws

X4

g

Leveling Feet




ASSEMBLY INSTRUCTIONS — G-CAB/S-CAB-22/32/42U EMAINFRAME:

www.mainframemfg.com

INSTALLATION

Use M6 countersunk head screws to install the front and rear door hinges, and install the front and
rear doors.

Attach the other end of grounding wire to the frame using M6 countersunk head screws and rubber
washers.

% /’ : R g
= al i ' _ E
i ER L= H
M6 Countersunk Q‘ . "-. | i FE E
Head Screws E H g
K J :
LE, g U...
% H E .““
] 1P
Sy o
ST H
LI |
E "S 1 FE H
g Uy | . 3 H

"~ \\
12 x M6 countersunk head screws

Install the fan roof and side panel.
Install the side panel door limit with M4-8 self-tapping screws.
Using M5 self-tapping screw included to attach bottom plate to the base.

x 16

M4-8
Self-tapping
Screws

N

X6

‘o

M5 Self-tapping
Screws

M5 self-tapping screws

* 3 0n each side




